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1.

Sol.
2.

Boric acid is solid, whereas BF, is gas at room temperature because of

(1) Strong ionic bond in Boric acid

(2) Strong van der Waal's interaction in boric acid

(3) Strong convalent bond in BF,

(4) Strong hydrogen bond in boric acid

B o Y WR FIRD 31 314 & Safe BF, 191 8 | wiifd-
(1) SR et H Uaet BT IoTT ST 2 |

(2) IR 3 Ul IS aTed IR fohamd 2 |

(3) BF, ¥ yael Heridiot 974 2 |

(4) ARP 3rct | T MAFTD ¢ B |

Question ID:3666942423

Ans.  Official Answer NTA (4)

a b

Boric acid is solid because of strong hydrogen bond in it.

Decreasing order towards SN 1 reaction for the following compounds is:

ECl ECl
NOz OMe

ECl ECl
Cl

¢ d

(H)b>d>c>a 2)a>b>c>d (3)d>b>c>a 4)a>c>d>b
o1 ARt @ forg SN 1fdfhar &1 sedt wH &

ECl ECl
NOz OMe

a b

ECl ECl
Cl

¢ d
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(H)b>d>c>a 2)a>b>c>d (3)d>b>c>a 4)a>c>d>b

Question ID: 3666942436
Ans.  Official Answer NTA (1)

Sol.  Therate of S 1 reaction depends upon stability of carbocation which follows the order

+ + + +
CH, CH, CH, CH,
OMe Cl NO,

.. Reactivity order
(b)>(d)>(c)>(a)
3. Bond dissociation energy of "E-H" bond of the "H,E" hydrides of group 16 elements (given below), follows
order.
A. O
B. S
C. Se
D. Te
Choose the correct from the options given below:
(DA>B>D>C (2)D>C>B>A 3)B>A>C>D (4)A>B>C>D
g 16 & el ey T Tl @ ergsrgsi HE & forg E-H a7 @1 a7 {421t Sl ol %4 & -

A. O

B. S

C. Se

D. Te

A= Qg Y fasped § 9 Wl SR g -

(H)A>B>D>C (2)D>C>B>A 3)B>A>C>D (4)A>B>C>D
Question ID: 3666942428
Ans.  Official Answer NTA (4)
Sol.  Inthe given compound the order of bond length
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H-Te <H-Se <H-S <H-O
So the bond strength for H-O is maximum.

4. Match List I with List II:

List-I (Complexes) List-II(Hybridisation)

A |INi(CO)y] L |sp’

B [[CuNHy) ™ | 1L |dsp’

C. |[FeNHy) " [WL|sp’d’

D. |[Fe(tL0)s*" V.| dsp’
(1) A-II, B-I, C-III, D-IV (2) A-II, B-I, C-IV, D-III
(3) A-1, B-11, C-III, D-IV (4) A-1, B-II, C-IV, D-III
G 1 1 et < 11 < -

a -1 (Fa,d) g=2A-11 (FH o)

A. |[Ni(CO)] L |sp’

B. [[Cu(NHy)]*" |1 |dsp’

C. |[Fe(NH3)®" [lI|sp’d?

D. [[Fe(H;0)o]*" |IV.|d%sp’
A1 faQ Y faeped § 9 HE1 SR g -
(1) A-IL, B-I, C-IIL, D-IV (2) A-IL, B-I, C-IV, D-III
(3) A-1, B-11, C-III, D-IV (4) A-1, B-1, C-IV, D-III

Question ID: 3666942432
Ans.  Official Answer NTA (4)
Sol.  Ni(CO), —>sp’

[Cu (NH,), ]2+ —>dsp’
[Fe(NHs)J2+ ——>sp’d’
[Fe(H20)6 ]Z+ ——sp’d’

No correct option.
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S.

1 L, 0.02 M solution of [Co(NH,).SO,] Br is mixed with 1 L, 0.02 M solution of [Co(NH,).Br]SO,.The
resulting solution is divided into equal parts (X) and treated with excess of AgNO, solution and BaCl, solution
respectively as shown below :

1 L Solution (X) + AgNO, solution (excess) > Y

1 L Solution (X) + BaCl, solution (excess) — Z
The number of moles of Y and Z respectively are

(1) 0.02, 0.01 (2) 0.02, 0.02 (3) 0.01, 0.01 (4) 0.01, 0.02
[Co(NH,),SO,|Br @ 0.02 M faera= & 1L @I [Co(NH,).SO,]SO, & 0.02 M frera & 1L 3 firemran |
AR a1 &1 aRTeR |4 (x) H dfel a1 aei 5 AgNO, faerae vd BaCl) faeram & st § 71 39
foretra T -

1 L fader= (x) + AgNO, fdera= @nferarr) — z

1 L faera (x) + BaCl, faera= (smfara) — z

y Ud z & ATl DI HT HA: —

(1) 0.02, 0.01 (2) 0.02, 0.02 (3) 0.01, 0.01 (4) 0.01, 0.02

Question ID: 3666942421

Ans.

Sol.

Official Answer NTA (3)

On mixing equal volume concentration is Half.
[Co(NH,),SO,]Br, [Co(NH,),Br]SO,
0.01 M 0.01 M

@ X [Co(NH,).SO,]Br+AgNO,— AgBrl

0.02
(Tj mole 0.01 mole

IYV
@i X [Co(NH,)Br]SO,+BaCl,—> BasSO,{

0.02
(Tj mole 0.01 mole

IYV
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6. Given below are two statements :

Statement I: During Electrolytic refining, the pure metal is made to act as anode and its impure metallic form
is used as cathode.
Statement I1: During the Hall-Heroult electrolysis process, purified Al O, is mixed with Na, AlF, to lower the
melting point of the mixture.
In the light of the above statements, choose the most appropriate answer from the options given below:
(1) Both Statement [ and Statement Il are incorrect
(2) Statement I is correct but Statement Il is incorrect
(3) Both Statement I and Statement II are correct
(4) Statement I is incorrect but Statement I is correct
< <1 o Ry MY & |
H | : faea srqaeN Oee # Yg o1g B YIS Ud IS AYE Tiad ©U BT HATE & HY H SUATT I & |
2 11 : fe—exTee g e ughd § gg AL O, &1 Na, AlF, & a1l fefran STl & difes fisfor &1 Terie o4
foan 51 9 |
SUE Bl B Y H, 7 QY Y et d 3 Al IR T+ |
(1) B 1 vd w11 <41 el € |
(2) B [ FEl & TR HU 11 T € |
(3) P I Td = 11 &I T2 & |
(4) B [ 7T B IR B 11 981 § |
Question ID: 3666942425
Ans.  Official Answer NTA (4)
Sol.  During electrolytic refining, the pure metal is made to act as cathode and impure metal used as anode.
7. KMnO, oxidises I" in acidic and neutral / faintly alkaline solution, respectively, to
MWL &L (2) 105 & 10; 3) L, &10; 4 105 &1,
KMnO, I &I SHL: 3l TI1 SERIF/Gal &N 71eq¥ ¥ iferiigd Bl &
(DL wEL 4 (2)10; WIO; & (3L IO; ® (4) 105 WL #
Question ID: 3666942429
Ans.  Official Answer NTA (3)

MATRIX JEE ACADEMY
Office: Piprali Road, Sikar (Raj.) | Ph.01572-241911

Website : www.matrixedu.in; Email : smd@matrixacademy.co.in

Page No. 6




3 MATRIX

Question Paper With Text Solution (Chemistry)
JEE Main January 2023 | 30 January Shift-2

Sol.

In acidic medium

2MnO;, + 101" +16H* — 2Mn** + 51, +8H,0
In neutral/faintly alkaline solution

2MnO, +I" + H,0 - 2MnO, +20H"™ +10;

The water quality of a pond was analysed and its BOD was found to be 4. The pond has

(1) Highly polluted water

(2) Water has high amount of fluoride compounds

(3) Slightly polluted water

(4) Very clean water

TS TTATE & STl Bl JOTadT T fAgersor f35ar 11 ga BOD 4 97T 3747 | areld | & -
(1) rides gg A e

(2) FARTSS ATDI B AfdD AT Jad ST

(3) %B T fia Sre

(4) 98T AT et

Question ID: 3666942431

Ans.

Sol.
9.

Official Answer NTA (4)
If BOD value less than 5 than water is clean water.

The wave function( ) of2sis given by

1/2
o | — 2-L | e
22w\ o o,

Atr=r,,radial node is formed. Thus , r, in terms of o,

(1) 1y =0t @ 1, = 4ot ()= (4) 1, =20,

2s & for R et () f&am mar s—

1/2
22n{ o, a,

r=r,, R B3roar (f$Fe) Ars ae1 8 | o1t o b AW H, 1,

09
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1) r, =0, (2) 1, = 4a, B L= % 4) 1, =20,

Question ID: 3666942422
Ans.  Official Answer NTA (4)
Sol.  For radial node y, =0

Sr= 2.510
10.
CH3 CH3
> |
Br Br
NO,
X) (Y)

In the above conversion of compound (X) to product (Y), the sequence of reagents to be used will be :
(1) (i) Fe, H* (ii) Br(aq) (iii)) HNO, (iv) H,PO,

(2) (i) Br(aq) (ii) LiAIH, (iii) H,O,

(3) (i) Br,, Fe (ii)Fe,H, (iii) LiAlH,

(4) (i) Fe, H" (ii) Br(aq) (iii) NHO, (iv) CuBr

CH3 CH3
Br Br
NO,

X) ()

A (x) S TS (y) § Tue TRAE g SUANT Y o a1t e b1 ) T £
(1) () Fe, H* (i) Br(aq) (i) HNO, (iv) H,PO,

(2) () Br,(aq) (ii) LIAIH, (i) H,O*

(3) () Br,, Fe (ii)Fe,H, (iii) LiAIH,

(4) (i) Fe, H* (i) Br,(aq) (iii) NHO, (iv) CuBr
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Question ID: 3666942439

Ans.  Official Answer NTA (1)

CH, CH, CH, CH, CH,
Fe Br, HNO, H,PO,
Sol. Br Br Br Br Br Br
NO, NH, NH, N,’

11. The C1-Co—Cl bond angle values in a fac — [CO(NH,),CI] complex is / are :

(1) 90° & 180° (2) 180° (3) 90°&120° (4) 90°
fac — [Co(NH,), Cl,] e # Cl-Co—Cl a7 PIvT 1 A1 2/8 ;
(1) 90° & 180° (2) 180° (3) 90°&120° (4) 90°

Question ID: 3666942430
Ans.  Official Answer NTA (4)
Sol.  Fac-[Co(NH,),Cl]

Cl
fac—
So, C1-O—Cl bond angle — 90°.
12.  The most stable carbocation for the follwing is :
NH NH, NH, NH,
a b ¢ d
(Ha 2)d 3)b dec
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forT & O waifde Wil eefberH 2 :
NH, NH, NH, NH,
a b C d

(Da 2)d ()b (“4)c

Question ID: 3666942435

Ans.

Sol.

13.

Official Answer NTA (4)

NH,

@ is the most stable carbocation because its resonance goes up to nitrogen atom.
©)

Formulae for Nessler's reagent is :

(1) K,Hgl, (2) KHgl, (3) KHg,I, (4)Hgl,

TR fAHHD BT G &

(1) K,Hgl, (2) KHgl, (3) KHg,I, (4)Hgl,

Question ID: 3666942433

Ans.

Sol.
14.

Official Answer NTA (1)
Nessler’s reagent is K, Hgl, .

Maximum number of electrons that can be accommodated in shell with n=4 are:

1)72 (2)50 3) 16 )32
n = 4 el P H SURLAT I8 AHH dTel FeTdei=l B AfTHTH AT B -
1)72 ()50 ()16 4)32

Question ID: 3666942424

Ans.

Sol.

Official Answer NTA (4)
Maximum no. of election in given shell is given as

2n%, n=principal quantum no. or shell no.
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Here, n =4, then maximum no. of electron willbe =2 x (4)*=32 ¢

15. Which of the following reaction is correct ?
(1) 4LINO,—2—>2Li,0+2N,0, + O,
(2) 2LiNO,—2—>2NaNO, + O,

(3) 4LiNO,—2—2Li,0+4NO, + O,
(4) 2LiNO,—2—2Li+ 2NO, + O,
/1 7 & DI arfifehan e 2°

(1) 4LiNO,—2—>2Li,0+2N,0, + O,
(2) 2LiNO,—2—>2NaNO, + O,

(3) 4LINO,—2—>2Li,0+4NO, + O,
(4) 2LiINO,—2—2Li+ 2NO, + O,

Question ID: 3666942427

Ans.  Official Answer NTA (3)

Sol.  4LiNO, —™ 521i,0+4NO, +0,

LiNO, on heating produces Li,0, NO, and O,

16. Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : Antihistamines do not affect the secretion of acid in stomach.
Reason R : Antiallergic and antacid drugs work on different receptors.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both A andd R are true and R is the correct explanation of A

(2) Ais true but R is false

(3) Ais false but R is true

(4) Both A and R are true but R is not the correct explanation of A

A1 <1 B U Y B | U I 1S A U9 SR Bl RO R FHET T2 |
ANAHAT A : URIRRSTA ST1er H 37 & Qo] UR Y91d 8] STefd] |

FHR R : TEafsie ga ufiera siifedt =1 arEl (receptors) W &R &l € |
()ATGRSHI T € dM A & Al AR R B |

2)ATR2RR T © |

B)ATHAZRGR AL B |
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(4) Awd R S 981 & I A @1 9El AR R T8 2 |

Question ID: 3666942440

Ans.

Sol.
17.

Official Answer NTA (1)
Antiallergic and antacid drugs work on different receptors

Chlorides of which metal are soluble in organic solvents:

(1)Be 2)K (3) Mg (4) Ca
e a1q & FIRTSS BES [Aemadi § gerid 2 -
(1) Be 2)K (3) Mg (4) Ca

Question ID: 3666942426

Ans.

Sol.

18.

Official Answer NTA (1)

Due to smaller size, Be** will show more polarising power, Hence BeCl, will have maximum covalent character

& most soluble in organic solvents.

Match List I with List II:
List-I1 (Mixture) List-II(Separation Technique)
A. |CHCI; + C4HsNH, I. |Steam distillation
B. C6H14 + C6H12 11. Differential eXtIaCti on
C. C6H5NH2+ Hzo I11. Dlstll lat ion
D. [Organic compound in H,O | IV. [Fractional distillation
(1) A-III, B-1V, C-1, D-II (2) A-1V, B-1, C-III, D-II
(3) A-I1, B-1, C-III, D-IV (4) A-111, B-1, C-IV, D-II
A | 1 e g2 [ | o |
qAd1-1 (fson) A -1I(q g v db1d)
A.|CHCL + CcHsNH, I. Steam distillation
B.|Cc¢H;4 + CsH2 I1. Differential extraction
C.|C¢HsNH,+ H,0 I11I. Distillation
D.|Organic compound in H,O IV. Fractional distillation
(1) A-III, B-1V, C-1, D-II (2) A-1V, B-1, C-III, D-II
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Ans.
Sol.

(3) A-11, B-1, C-IIL, D-1V (4) A-111, B-1, C-1V, D-II
Question ID: 3666942434
Official Answer NTA (1)
Mixture Separation technique
(A) CHCIL, + C.H.NH, - Distillation
B) CH,+CH, - Fractional distillation
(C) CHNH, + H,O - Steam distillation
(D) Organic compound H,O — Differential in extraction

19.

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
O
Asserion A : )’\)J\can be easily reduced using Zn-Hg/HCI to M
OH OH
Reason R: Zn-Hg/HCl is used to reduce carbonyl group to— CH, — group.
In the light of the above statements,choose the correct answer fromthe options given below:
(1) Both A and R are true but R is not the correct explanation of A
(2) Aistrue but R is false
(3) Ais false but R is true
(4) Both A and R are true and R is the correct explanation of A
121 &1 B Ry Y B | U Bl I A Td SR B HRUTR H'1 TR |
O
AMABATA )[\/U\ ®1 Zn-Hg/HCI &) TeRiar >\\/\ H T & <roafdd favar S e
OH OH
=
RO R: Zn-Hg/HC &1 SUam St T8 1 — CH, — W98 ¥ oruafid o3 # faan Sman 2 |
S eIt o epre H, e g e et § & wd SR g ;
(1) ATd R S 9€1 § IReg A &1 98l IRATR &1 & |
Q) AT TWRGR Tz |
B)ATIIE RgR A8 2|
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(4) Atd R S & € o A @ I e R B |
Question ID: 3666942438
Ans.  Official Answer NTA (3)

0O
Sol. )I\/U\ Zn-Hg/HOL M
OH Cl

The acid sensitive alcohol group reacts with HCL, hence Clemmenson reduction is not suitable for above

conversion.
20.  Thecorrect order of pK, values for the following compound is :
OH OH OH H
N NO,
PN
a b c d

()a>b>c>d 2)b>d>a>c (3)c>a>d>b 4)b>a>d>c

=1 Aifrepi @ ferg pK A o1 el 559 8 -
OH OH OH H
N NO,
PN
a b c d

()a>b>c>d 2)b>d>a>c (3)c>a>d>b 4)b>a>d>c
Question ID: 3666942437
Ans.  Official Answer NTA (2)

1
Sol. PK, = e K_ increase by electron withdrawing group.

a
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K =C>a>d>b pK =b>d>a>c

21.  Number of compounds from the following which will not dissolve is cold NaHCO, and NaOH solutions but

will dissolve in hot NaOH solution is

/O)'\OHOJ'\O/ mH ©§:

\@/OH
\
O H

@r @\.r

H,C" CH,

151 % 9 51 A ffepi 1wz sit 68 NaHCO, vd NaOH faerari # =&l gefil ureg 7 NaOH faera # et SRR

)

/O)'\OH Lo/ mH @C;:

\@/OH
X
O H

@ ) @O\.Or

H,C" CH,

Question ID: 3666942449
Ans.  Official Answer NTA (3)

Sol.

OH OH

OH , and

O
H\O
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will dissolve in hot NaOH solution

22.  Lead storage battery contains 38% by weight solution of H,SO,. The van't Hoff factor is 2.67 at this
concentration. The temperature in Kelvin at which the solution in the battery wil freezeis  (Nearest integer).
GivenK, = 1.8 Kkgmol™
TS \Erd 98 § UR gR138% H_ SO, 1 ferar HIS[T 8 | 339 Al 1R die &% o 2.67 & | 9241 # faer
11 a9 (feas #) W 5\ SITQm 98 B | (Freveaw qurtes)

Question ID: 3666942443

Ans.  Official Answer NTA (243)

Sol. AT, =iK,.m

s AT, =2.67x1.8x 5, 1000
98" 62

= AT, =30.05

. F.P.=243K

23. A short peptide on complete hydrolysis produces 3 moles of glycine (G), two moles of leucine (L) and two
moles of valine (V) per mole of peptide. The number of peptide linkagesinitare
T BIE UeTES Yol Siet Jiuees] R, UeTgs & Ufd Al uR, werngeli (G) & 3 Arel, i (L) & 2 Arel Td Jeie
(V) & 2 ier Seu=1 el & | S UeeTgs el ) < & .

Question ID: 3666942450

Ans.  Official Answer NTA (6)

Sol. 3 moles of glycine (G), two moles of leucine (L) and two moles of valine (V) per mole of peptide show that
peptide chain has 7 amino acid that is a heptapeptide chain The number of peptide linkages in it are 6.

24.  Anorganic compound undergoes first order decomposition. If the time taken for the 60% decomposition is
540 s, then the time required for 90% decomposition willbeis s.(Nearest integer).
Given:In10=2.3;l0g2=0.3
U PIafTeh Al Y BIfe sTqee aRid &l & | Ak 60% smae 3§ 77a 540 s 8 a1 90% ruees &
HHY B : s.

(Frepeam qorien)
(g :In 10 =2.3, log 2 =0.3)

Question ID: 3666942446

Ans.  Official Answer NTA (1350)
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Sol.  In60% decompositionA =1,A =0.4

k=t Ao |2 L (10
t (A, ) 540 |4

t

. time t, complete 90% reaction

tz%ln(lO)

_ 09 o
10
In| —
(4J

__ 23 540

23x04
=1350s
25.  Thestrength of 50 volume solution of hydrogen peroxideis g/ (Nearest integer).
Given:
M olar mass of H,0, is 34 gmol ™
Molar volume of gas at STP=22.7 L.
BSeIoH WRiRgs & 50 e (Volume) Rerm st oifdme: . g/L. (Rdvean guris)
fear g : H O, @1 AieR g@Hi= : 34 g mol™'; 9 &1 STP W HeR afrge : 22.7 L.
Question ID: 3666942448
Ans.  Official Answer NTA (150)

.50
Sol.  Molarity =T135
.. Str i _ 0 x 34
.. Strength in gm/L 1135
26. 1 mole of ideal gas is allowed to expand reversibly and adiabatically from a temperature of 27°C. The work

done is 3 kJ mol™. The final temperature of the gasis K (Nearest integer). Given Cv =20 J mol™! K™!
1 Are a1rel 399 1 27 °C | IapAv vd $8are (reversibly and adiabatically) YR 3 vRol fhan T 2 |
NMarefmames K (Feead gorie)
(Garmarg: Cv=20Jmol' K™)

Question ID: 3666942442

Ans.  Official Answer NTA (150)

Sol. W=-q=-nC,[T,-T ]=3x10%J
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= —1 x 20 [T, - 300] =3 x 100

= —1x20[T,-300]=3x100
3000
—(T,-300) =——
- (T, ~300) 20
T, =150

X
27.  The graphoflog Vs log p for an adsorption process is a straight line inclined at an angle of 45° with intercept

equal to 0.6020. The mass of gas adsorbed per unit mass of adsorbent at the pressure of 0.4 atm is
x107! (Nearest integer).
Given :log 2=0.3010

ol i e o forg, 1og% vs log p @1 71 45° F107 W g & T W T & R sidws

0.6020 g1 0.4 atm 39 W AfTLNYF & YT 3HTs g R AEIMAgg I dIgm=es  x 107
(Frepe qurf)
(fGam 2 : log 2 = 0.3010)

Question ID: 3666942447

Ans.  Official Answer NTA (16)

1 oy .
Sol. ;ztan(45) sn=1

logk=0.602 ..k=4

X kp""

m
=4 x0.4
=1l6g

28. Consider the following equation
280,(g)+0,(g)=—=250,(g),AH=~190kJ
The number of factors which will increase the yield of SO, at equlibrium from the followingis
(1) Increasing temperature (2) Increasing pressure
(3) Adding more SO, (4) Adding more O,
(5) Addition of catalyst
=1 arfafehar wR faaR & -
2580, (g)+0,(g)=——=280,(g),AH=-190kJ

=1 5 & S BReT 1 A1 Sl A R SO, & Sere Bl 9N &
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(1) ama # gfe (2) s # gfe
(3) a1fer SO, fem (4) @rfer O, Frerr
(5) SRT ®I FHAT

Question ID: 3666942444

Ans.

Sol.

29.

Official Answer NTA (3)
The yield of SO, at equilibrium will be due to :
B. Increasing pressure
C. Adding more SO,
D. Adding more O,
The electrode potential of the following half call at 298 K
X|X*(0.00IM) || Y**(0.01M)|Y is__ x102V (Nearest integer).
Given: EOXH‘X =236V
Eoy“\y =+0.36V

2.303RT 0,06V

=1 9t & forg 290 K wr et fwg & x 1072V (Frevedd qorie)
X|X* (0.001IM) || Y** (0.01M)|Y
IERIRIE IR ]30)(2+|x =236V

E"yﬂ‘y =+0.36 v

2.303RT — 0.06V

Question ID: 3666942445

Ans.

Sol.

Official Answer NTA (275)
EO

cell

=E%.  —E%.  =036-(-2.36)=2.72

Y2+ |Y X2+ |X

X2+
EcellEgell - % log%

4
:2.72—0.03log(11X10 J

0—2

=2.72-0.03 log (11 x 10%)
=2.72-0.03 [log 11 - 2]

MATRIX JEE ACADEMY
Office: Piprali Road, Sikar (Raj.) | Ph.01572-241911

Website : www.matrixedu.in; Email : smd@matrixacademy.co.in

Page No. 19




=== M ATRIX Question Paper With Text Solution (Chemistry)
‘} JEE Main January 2023 | 30 January Shift-2
=2.72-0.03 [1 -2]
=2.72+0.03
=2.75

30.  Iron oxide FeO, crystallises in a cubic lattice with a unit cell edge length of 5.0A. If density of the FeO in the

crystal is 4.0 g cm, then the number of FeO units present per unitcellis . (Nearest integer)

Given : Molar mass of Fe and O is 56 and 16 g mol™ respectively.

N, =6.0x10” mol

3R 3ffaarss FeO, Ua g+ Sieta ¥ fiveeliad I & R o it ok o 5.0 A # | 9 firved
#FeO w1 a7 4.0 g cm™ 2 1 U g dIftgant FeO sahigai &1 981 8 (Frerea™ quria)
(G2 : Fe wa@ O &1 AleR &+ %A 56 7d 16 g mol™' 2,

NA =6.0 x 102 mol™)
Question ID: 3666942441
Ans.  Official Answer NTA (4)

Sol.  d=Z% X3m

a

zx72

4= .
6x1023(5x10-8)’

_ zZx 72
6x125%10™"

=z~4
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